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1. Find the length of the side marked with

letter in each of the following

triangles. Give each answer correct to one decimal place

15 fi> L

2.In the given triangle abe,
adibe. If |ad|=6em,
| abd| = 65° and |2acd| =32,
find |be] correct 1o 1 decimal
place.

3.In the given diagram bd Lac,
|£bad| =70°, |ab| =7 cm and
ac| = 11 cm.
Find |de| correct to 1 decimal
place.

4. In the given diagram b, c and d
are collincar and |Zabe| =90°.
If |ab|=16m, calculate cd],
correct to the nearest metre.





image2.jpg
5. In the given diagram acd is a

straight line and bd 1 ad. b
1t |bd] = 6 em, [ab| = 11 cm, find

(i) |£bad| lem

(ii) |ad|, correct to 1 decimal 6em
place. s

d

6. In the given triangle ac L bd.If a
|zabe| =34°, |bc|=7cm and
|ed| =3 cm find
(i) |ac|
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7. In the given diagram |Zprq| =

q
|£rsq| =90° and [ £ rpq| = | £ rgs| = 32° A
1f | pg| = 6.cm, find [gs| correct G
10 1 decimal place.
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